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©C) 6X° =x*+2x3 —x*—2x-3 (D) 6x° +x* —2x* +x* —2x-3
7. FEFEENEE AR ERRELE - 7-Eleven EFpEHE - OK(EAIREE » {UEWE (— )R »
5/ INIHEL S = R (SR M p | E P EE » R PESE A2/ DA R ?
(A) 440 | L
(B) 480
(C) 500 B00(H) _
(D) 550 E2e 7-11
800
(AR
(& —) OK
8. WE(Z)AR > [EIRFE &M ABLHIE BIYR G ILE L/ DE 2
(A) 6
(B) 12 °
(C) 18 A
(D) 24 & ()
0. 5 o Bl BH BT sina:% \ sinﬂ:% . Hicos (a—pB)=?
56 36 20 16
(A) 5 (B) & ©) o (D) =
10. E41A(3, -1) ~ B(-5,3) ~ C(x,y) h[d—H4% LR =8, ZCBEAB I » HifE

11.

12.

13.

14.

AC:CB=3:1" 3tk C BiabfE -
(A) (-3,2) (B) (2, -3) ©) (2,1) (D) (3, -2)

HRXIgEHZS - 288 1000 ir24 2% > HREERERSA - B4 160 AfFE

68 77LA T » H 25 AAE 92 53D b BN RRaEL %/ 2

(A) 82 (B) 80 (C) 78 (D) 76

TS BEEANIE R > o E AR A ?

(A)1-4-5-7-8 (B)2-8-10- 14 16
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(A) 5 (B) 3 (€) -3 (D) -5
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